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Q1)

a) A debt of $1000 is due on June 15, 1994. after that date the borrower is
required to pay 10% interest. If the debt is settled on January 10, 195 what
must be repaid?

b) Find the bank discount and the proceeds if $450 is discounted for 30 days at
10.5%
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Q2)a woman borrows $3000 at 16% on August 15, she pays $600 on September 15,
$800 on October 15, $600 on December 15, if she makes a final settlement on
February 15 of the following year . how much will she have to pay by

a) merchants rule

b) united state rule
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Q3) For a sum money to double itself in 10 years, what must be the rate of interest

converted annually.
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Q4) A person owes $20000 due in 3 years with

interest at 10% compounded

quarterly, and $10000 due in 5 years with interest at 8%. If money is worth 9% what

single payment 6 years hence will be equivalent to the original obligations?.

Important Formulas

S=P (1 +r.1), I=P.r.t,

P=

S(L-d. 1)

S=P (1+i)"
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